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Worksheet 25
1. 

Let D be a square . Evaluate  
 







2. 

Let C be , evaluate 



Hint: create closed curve , use green theorem to calculate then .














3. 
[image: ttp://tutorial.math.lamar.edu/Classes/CalcIII/GreensTheorem_files/image004.gif]Evaluate  where C are the two circles of radius 2 and radius 1 centered at the origin with positive orientation.














4. 
Let, 









5. 

Let  and 

 








6. 

Verify Stoke’s theorem on  over the surface S: 






7. 


[bookmark: _GoBack][image: Divergence_Ex1_G1]Let  and S defined by on top,  on sides and z=0 at the bottom.
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